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For each question from 1 to 24, four options are given. One of them is the correct answer,
Make your choice (1, 2, 3 or 4). Shade the carrect oval on the Optical Answer Sheet

(OAS). {48 marks]
1 Living things need air, food and water to stay alive.
Which set-up should be used to keep a grasshopper afive? -
plastic plate plastic plate
(1) without holes A with holes
leaf water
{3} pl_astic plate 4 plastic plate
with holes with holes
water

leaf

The diagram below shows a young plant.

The leaf helps the plant to

(1) absorb minerals
(2) absorb water
{3) grow upright

(4) make food

{Ge on to the next page)




Which characteristic is used to identify an insect?
(1) They have hair.

(2) They have wings.

{3) They have six legs.

(4) They live in water.

A, B, G and D are the various stages in the life cycle of a mosquito.

0 \ e
{{3& o
A B c D

Which of the following correctly shows the life cycle of a mosquito?
M (2)
=) B !
/ ™ - .
‘ A c A 3
.| b ! v | ¢ | ¥

3 @)
C D
S N S ™
A B A G

{Go on to the next page)
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5  Which human system is shown in the diagram balow?

(1) skeletal system

(2} muscular system

(3) circulatory system

(4) respiratory system

& The table below shows the characteristics that 3 living things, X, Y and Z have.

Living things _
_ X Y z
Characteristics
Make its own food Yes No . No
Can be useful / harmiul Yes Yes Yes
Needs microscope to see it No No Yes

Which of the following groups do X, Y and Z belong to respectively?

X Y Z
&) fungi fern bacteria
{2} fern fungi bacteria
{3) bacteria fungi fem
{4) femn | bacteria fungi

(Go on to the next page)
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7

May placed three similar seeds in each of the two-similar dishes, \ and W, which
contained wet soil. She placed dish V near the window in her room and dish W
in a closed cupboard. The experimental set-up is shown below.

/

closed cupboard

seeds

wet soil |

dish V
(near window)

dish W
{in a closed cupboard)

May recorded her observations in the graph below.

Average height of
seedling (cm}
M
12 +—
dish W
8§ —+— . dish V
- - - -
e
4 - g - - -
0 il | | | | ., Number
{ | I | | Gf days
0 2 4 6 8 10

She made the following statements about her observation.

A Light was necessary for the seeds to grow.

B The seeds in dish W did not have air to grow.

C  The seedlings in the cupboard grew taller than those placed near the

window.

Which statement(s) is/are correct?

(1) Aonly

(2) Conly

(3) Band Conly

(4) A,BandC

(Go on to the next page)
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8 Alyssa set up the experiment as shown below.

leaves

/rootfe,\: / \ ’
AN , ( ] 120m}

-1 120ml
=L water |

BP~513

layer of

oil

- = = water

She left the set-ups near a window for three days.

each set-up after three days?

{1) amount of

water left (m))
A
120 .
: setup
(3)
amount of
water left (ml)
F 3
120
set-up

Which one of the following graphs most likely shows the amount of water left in

(2) amount of
water left (ml)
F 3
120
set-up
{4)
amount of
water left {ml)
ry

120

set-up

(Go on to the next page)




o WeiLing collected some information on three different organisms P, Q and R

and recorded it in a table as shown below.

Organisms
Characteristics P Q R
ts young mouits Yes Yes Yes

Has 3 stages in its life cycle Yes Yes No
Spends part of its fife cycle in Yes No No
water

Based on the information given, which of the following statements are correct?

A
B
C

(1
(2)
3
&

P can be a chicken.

Qcanbea cockroach

The young of R does not took hke its adult.

Aand B only
Aand C only
B and C only

A, B and C only

{Go on to the next page)
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10 Study the chart below.

QOrganisms

Which of the following is correct for P, R, V and W?

P R v W
(1) lNo feathers Has feathers Lays egg Does not lay eggs
(2) | 3 pairs of legs };Z\;Vr?c:r IZ?;SS ‘. Has wings Mo wings
(3} Has wings No wings Dce:gr;]c: lay Lay eggs
{4) . Lays eggs Doe:gr;c;t lay g::: é??ggi 3 pairs of Ie_gs

(Go on to the next page)
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12

Mary wanted to find out if surface area of biscuit would affect the time taken to be
completely digested. She prepared two set-ups, A and B, as shown in the diagram
below.

biscuit broken into
smaller pieces

Which variables should she keep the same to ensure a fair fest?
A Type of biscuit

B Amount of digestive juice X

C  Size of the biscuit added into digestive juice X

D  Time taken for biscuit to be digested completely

(1Y Aand B only

(2) BandConly

(3) AandConly

(4) A/BCandD

Bruce put a metal solid ball into a container of water.
At which position, A, B, C or D, would the ball most likely be found?

CA)
\_/ .E —t e water

container

(1n A
2) B
@ C
4 D

(Go on to the next page)
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13 Ravi pumps air into a float.

14

—

More air can be pumped into the float even though it is already fillad with air.

This is because air

(1) ismatter
(2) has a fixed shape
(3} has no definite mass

(4} has no definite volume

The diagram shows a plastic block brought near to a magnet.

plastic block magnet’

What will happen to the magnet?
{1} It will not move.

(2) Itwill move down.

(3) ltwill move to the left.

(4) it will move to the right.

{Go on to the next page)
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15 The set-up below shows light shining on a metal sphere.

-

C:CD{-—O [

R

torch metal sphere screen

Which of the following woutd likely be seen on the screen?

(1) )

3 : (4)

(Go on to the next page)
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16 Peter has a snow globe on his table as shown in the diagram below.

pes

show globe

He was able to see the free in the show globe.

What is the property of the show globe?

Allows light to pass Reflects light |
through
{1) Yes No
2) No Yes
(3) No No
{4) Yes Yes

. 17 A metal block was placed in a fridge until its temperature was 2°C. it was then
placed into a container of water at room temperature of 30°C.

water

metal block -

Which of the following correctly shows the change in temperature of the water
after one minute and the reason?

Change in
temperature Reason
of water
() decrease. | The water lost heat to the metal block.
(2) increase The water gained heat from the metal block.
3 increase The water gained heat from the sumroundings.
{4} decrease The water lost heat to the surroundings.

{Go on to the next page)
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18 Look at the picture below.

éi’)/ lamp

boock on
table
Sue

Which one of the following explains why Sue can see the book on the table’?

direction
> of light

(1) 2

G i

(4)

3)

€ £/

{Go on to the next page)
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19 Siti poured 20 mt of water into a measuring cylinder. She then placed object A
into the cylinder, followed by object B and finally object C.

measuring ‘
cylinder

30 mi

A—F

Which of the following observations is correct?

(1) Object A is heavier than object C.
{2) Object B is heavier than object A.
(3) Object C has a farger volume than object A.

(4) Object B has a targer volume than object A.

{Go on fo the next page)
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20 Four pupils set up an experiment to measure the amount of light passing through
three different materials, A, B and C for 10 seconds as shown in the diagram.

- 0

torch material light sensor

Their observations are shown below.

Materials Amount of light passed through
A Very little light
B Some light
C | Most light

Which graph shows their resuits correctly?

(1) (2)

Amount .

Ameount . A B c
of light , of light “
{units) / (units)
/
B
A
»Time —» Time
(3} @
Amount

Amount " of Ilghtjk
of light {units) c

{units)

4

» Time

»Time

{Go onto the next page)
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21 Natalie walked barefooled on some floor tiles and then on a wooden floor.

floor tiles wooden floor

Why did she feel colc_i on the tiles but not on the wooden floor?
(1) Theftile lost heat to her feet.

{2) The wood gained heat from her feet.

{3) The tile is a poorer conductor of heat than wood.

{4) Thetile is a better conductor of heat than wood.

22 Mother heated some buns with a liguid filling in a pot as shown in Diagram 1.

iid\ wu filling burst through

not - ] bun wall of bun
) (- liquid filling

Diagram 1 - Diagram 2

stove

After some time, Mother noticed the filling had burst through the wall of the bun
as shown in Diagram 2.

Which of the following best explains why?
(1) The filling lost heat and contracted more.

(2} The iilling iost heat and expanded more.
(3) The filling gained heat and expanded more.

{4) The filling gained heat and contracted more,

{Go on to the next page)
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23  Rani filled a container with water as shown in Diagram 1. She then put in a metal
cube into the container and observed that the water level rose as shown in
Diagram 2 below.

N

Diagram 1

7

150ml

N

7

180ml

7

—» cube

Diagram 2

Which one of the following statements best explains Rani's observation?

(1) The cube took up space in the container.

{2) The water increased in mass when the cube was put in.

(3) The water increased in volume when the cube was put in.

(4) The cube increased in volume when it was placed into the container.

24 Mandy was doing some exercises with an inflated gym ball as shown below.

What would happen to the air in the gym ball when she was balancing on it?

{1) The mass of air decreases.

(2} The volume of air increases.

(3) The mass of air remains the same.

(4) The mass and volume of air decreases.

End of section A
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2

For questions 25 to 35, write your answers in the spaces provided. The number of marks available
is shown in brackets [ ] at the end of each question or part question. {32 marks]

25 Study the classification chart below.

Living things
| ' |
K L
bread mould
%
mushroom
hibiscus plant i
Choose the correct words from the box to give suitable headings for K and L, {2
flowering plants  non-flowering plants  fungi bactetia

{Gao on to the next page)
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26 Kim carries some fruits in a clear plastic bag.

Fiil in the blanks using the correct words in the box.

strong flexible waterproof light

(@} The plastic bag does not break even though the fruits are heavy.

This shows that the plastic bag is 1]

(b} The fruits in the plastic bag will not get ‘wet.

This is because the plastic bag is [1]

2

{Go on to the next page}
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27 Water is poured info a measuring cyclinder containing three marbles.

it
P W

. / I\
| o I
= ]

water = \\ —]/

marble —

{a) State the reading of the water level.
ml 1]

Circle the correct answers for (b}

(b) Water can fill the spaces between the marbles becauée water has

no fixed { mass / shape / volume). 1M

2

(Go on to the next page)
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28 Magnet Q is brought near another magnet P.

(a) As the poles of both magnets are facing each other, P and Q will
[1]

(b) Qs the brought near a small steel ball.

small steel ball Q-

Tick (v ) the box that shows the direction the steel ball will move. | 1]

T

«~ () —>

N\

small steal hall

BP~529
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29  Haijun conducts an experiment to investigaie how light travels.

(g} Tick (v} the box for the set-up which ailows Haijun fo see the candlelight
when he looks through the hole at P. 11

candlsligh

- (b) Whatcan Hajjun conclude about how light travels? il

2

(Go on to the next page)



BP~531

7

30 Study the life cycle of the frog as shown below carefully.
J Stage Y

(o}

(2)e) 4
Stage X @F®
g & Stage Z

(a) Which two characteristics of living things are shown in the life cycle of the frog? [1]
@
(it
(b)Y What are two differences between the characteristics of the frog at stage Y and stage Z

of its life cycle? {2]
Difference 1.
Difference 2:

3

{Go on to the next page)
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31 Siti had a plate of chicken rice for dinner. The graph betow shows how the amount of
undigested food changed as the food passed through the different parts of her digestive
system.

Amount of undigested
foc:kd {units)

[ R
N B

]
|
!
f
]
1
i
!
|
I
§

—» Parts of digestive system
A B C b E

(a) What is digestion? 1
(i)
(i) Explain how chewing helps in speeding up the digestion process. 1]

(b) Based on the graph above, in which part of Siti's digestive system, A, B, C, DorE,
was the food completely digested? Give a reason for your answer. {1]

{c) Name the organ that represents part E and state its function. 1]

4

{Go on fo the next page)
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32 Leela wrapped two identical glass beakers with different materials as shown
below. She filled both beakers with the same volume of hot water at 80°C, and

then placed them in a room at 28°C.
thermometer -
_"—"‘_—*——._

. . , plastic
fabric licl

metal

- = hot water

set-up A sef-up B

(a) Leela observed that the temperature of hot water in both beakers decreased after
some time. Explain why. '

BP-~533

[11

(b) Leela measured the temperature of the water in sef-up A at different times
and piotted her results in the graph shown below.

{fy Write in the box below the temperature observed after 12 hours.

{it Draw a line in the graph to show how the temperature of water in set-up B changes over

time, compared to the temperature of water in set-up A

temperafure {°C)
'y

90

setup A

{bi)

T T t T T T time (hOUl'S)
2 4 ] 8§ 10 1tz

() Why must Leela have the same volume of water in each set-up?

[}

i1

i

{Go on to the next page)
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33 Peter placed a cup of coffee on an electric warmer as shown below.
cup =
warmer >// air gap
£, TITIT) ;///;/ ”;r; .r;

Peter switched on the electric warmer. The temperature of the coffee is shown
below.

Temperature (°C)

F

100

80

60 P e

4

20

s Time {min)

¢ 2 4 B 8 m 12
(a) State what is temperature. : M

(b) What was the temperature of the coffee at 10 minuies? [

(c) Peter found that the top of the table under the eleciric warmer was not as hot as the cup.
Explain why. 2]

4

(Go on to the next page)



34 Lily set up fwo electromagnets, set-ups A and B, using simifar batteries.

hattery

A\ "ﬁ

1|
nait baﬁ\ery nai
wire\ X H } :
__30 310
coils colis

\ wire

@,ﬁaﬁ with iroh pinssm_l

BP~535

set-up A setup B
She observed and recorded the number of iron pins atiracted to each of the electromagnets
i the table below.
Set-up Number of iron pins attracted to the
electromagnet
A g
B 3

(@} Which set-up has a stronger electromagnet? Explain why.

{1

(b) Lily placed the fio electromagnets at the same hexght above the {rays with iron pins.
Explain how this will ensure a fair test.

1

{c} Suggest one change to set-up B if Lily wants the nail to attract more iron pins.

{1

(d) She then changed the iron hail to copper nail to set-up A. Whaf would she observe?

Explain your answer.

(11

4

{Go on to the next page)
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35 The diagram below shows a girl walking clese to a street lamp.

sfreef lamp
shadew

A B C

{a) What property of light causes shadow to be formed? 1

(b} What would happen to the tength of her shadow as she walks from position Ato B
and then to C? 11

{c) Explain why the size of the shadows would be shorter when the street iamp was raised
to a higher height. , [11

End of paper
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30a(j{)

Living Things Reproduce.

30b

The Tadpole Breaths Through Gills And The Frog Breaths
Through Lungs And Moist Skin.

The Tadpole Can Be Found /Live In Water Only While The
Frog Can Be Found / live on Land Or In Water.

31a(j)

Digestion Is The Process Where by Food is Broken Down
Into Simpler Substances.

31a())

Chewing Helps To Break Down The Food into Smaller
Pieces And It Allows More Surface Area Of The Food To Be
In Contact With Digestive Juices For Faster Digestion.

31b | Part D. The Amount Of Undigested Food Leaving D Stopped
Decreasing/became Constant At E.
31c¢ |large Intestine. Water Is Absorbed From The Undigested
Food.
32a | The Water In The Breakers Lost Heat To The Surrounding.
32b(j ) | 28°
32b(ij)

set-up A

. — lime (hours)




32¢

Leela Used The Same Volume Of Water In Each Set-Up To
Ensure A Fair Test So That There Will Be Only Changed
Variable Which Is The Type Of Material Used To Wrap The
Breakers

33a

Temperature Is The Mesurement Of The Degree Of Hotness
Or Coldness Of An Object.

33b

60°

33c

Air Is a Poor Conductor Of Heat Which Slows Down Heat
Flow From The Electric Warmer To The Table Top Gains
Heat Slower Than The cup.

34a

The Electromagnet In Set-Up A Is Stronger . The Nail Has
More Coils Of Wire Around It So It Will Have Stronger
Magnetic Force / Strength.

34b

Keeping The Same Height Above The Trays Will Ensure That
The Pins Attracted Were Due To The Number Of Coils Of
Wire And Not The Height Of The Electromagnet Above The
Pins.

34c

Use More Batteries / Coil More Wires Around The Nail.

34d

The Copper Nail Would Not Attract Any lorn Pins As Copper
Is Non-Magnetic And Cannot Be Magnetised.

35a

When Light Is Completely Biocked By An Opacgue Object,A
Shadow Is Formed.

35b

The Length of Her Shadow Would Decrease As She Walks
From A To B And Increase When She Walks From B To C.

35c

The Light Source /Lamp Is Further Away From The Girl So
The Girl Blocks Less Light.
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